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2. The figure shows an approximate plot of force magnitude F versus

time 7 during the collision of a 58 g ball with a wall. The initial
velocity of the ball is 34 m/s perpendicular to the wall; the ball Z

rebounds directly back with the same speed, also perpendicular to -
the wall.

What is Fmax, the maximum magnitude of the force on the ball

from the wall during the collision? 0
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The figure gives the magnitude p of the lincar mo-
mentum versus time  for a particle moving along
an axis A force directed along the axis acts o the
particke. (a} Rank the four regions indicated ac-
s:wdmg to the magnitude of the force, greatest

first. (b} In which region is the particle slowing?
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2. Inthe overhead view of the figure, a 300 g ball with a speed v = 6.0 m/s strikes a wall at

an angle 6 = 30° and then rebounds with the same speed and angle. It is in contact with
the wall for 10 ms. In unit vector notation, what are:
(a) the impulse on the ball from the wall
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(b) the average force on the wall from the ball?
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2. Aball of mass m1 =0.50 kg is fastened to a cord that is 70 cm long and fixed at the far
end. The ball is then released when the cord is horizontal. At the bottom of its path, the

ball strikes a block of mass m2 = 2.50 kg initially at rest on a frictionless surface. The
collision is elastic. Find:

(a) the speed of the ball just after collision.
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(b) the speed of the block just after/the collision.
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